The Acquisition of Consolidated Rail Corporation
Case A Questions Notes
Case A

1. Why does CSX want to buy Conrail?  

What are the advantages for CSX of merging with Conrail? You may want to generally overview the network economies of scale and scope realized in the merger, the impact of competition from trucking, the impact of the Stagger’s Rail Act of 1980, and the impact of the NAFTA agreement. Is Conrail very efficiently-run company? Can you also think of other motives for the merger suggested in the case?

How much should CSX be willing to pay for it? Use the following two methods:

a. Evaluate Conrail using multiples.

To value Conrail using multiples you have to compute the average multiples based on EPS, book value, sales, EBITDA, and takeover premium. Use Exhibit 6 (part A) for that purpose. You may want to decide which deals to include into your multiple average (note that deals differ in their attitude – friendly vs. hostile, status - withdrawn vs. completed, and targets’ size & leverage). Once you obtain average multiples you have to use them to obtain the value of Conrail per share. How? Let’s examine each multiple in turn. 

· EPS multiple. To compute Conrail’s value based on the EPS multiple, you can use your average EPS multiple and multiply it with Conrail’s EPS estimates provided in Exhibit 6 (note there are several EPS estimates). The EPS multiple is defined as the ratio of offer price to EPS, so when you use that approach you would obtain a price per share estimate.

· EBITDA multiple. Compute the average EBITDA multiple and then multiply it by EBITDA of Conrail. Doing so you would obtain the estimate of the total enterprise value. Notice that you have to translate this estimate into an estimate of equity value. To do so use the definition of total enterprise value provided in Exhibit 6. To back out equity value from total enterprise value, please use the debt data in Exhibit 6 and the cash data given in Conrail’s balance sheet. Once you obtain the total equity value you can translate it into share price by dividing equity value by the total number of shares.

· Sales multiple. Same as in the above. Estimate total enterprise value for Conrail as the product of average sales multiple and Conrail’s sales provided in Exhibit 6. Using this estimate of total enterprise value you can back out the equity value as in the above and then translate it into price per share.

· Market-to-book (price-book-value) multiple. Multiply your average market-to-book multiple by Conrail book value per share given in Exhibit 6 in the case. You would thus obtain price per share.

· Average takeover premium (i.e. average four-week post acquisition-announcement premium on target stock). You can use it to determine market’s estimate of target value. After you compute the average acquisition premium (in %), multiply it by the pre-merger-announcement price of Conrail given in the case to obtain the increase in Conrail’s pre-merger-announcement share price. The estimated per share price is then the sum of the increase in the pre-merger-announcement price and the pre-merger-announcement price itself.

Using each multiple you would obtain an estimate of price per share. These estimates might differ, so you can average them and report the average. You may find it helpful to review the interview questions & answers in Session folder 13 where we had overviewed how to value companies with multiples (I also attach them as an appendix to these guidelines).

b. Estimate WACC of merged firm. Assume that the market risk premium is 7.5%, and that the debt beta of both firms is 0.1. Using the WACC, evaluate the value of Conrail as its current price plus the PV of the merger synergies.

To value Conrail using the current value plus the PV of synergies, follow these steps:

· Determine the WACC of the merged firm (CSX-Conrail). To do so, you would have to obtain the asset betas for both CSX (
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) and then compute the CSX-Conrail asset beta:

· To obtain the asset betas, you have to un-lever the equity betas for CSX and Conrail in Exhibit 8. Use tax rate of 35%. To determine debt-to-equity ratios use Conrail’s and CSX’s balance sheets (for debt) and income statements (for pre-merger market value of equity: the pre-merger price times the number of outstanding shares) as of the end of the 3Q, 1996.

· The weights of the individual asset betas should be based on the total values of each company (i.e. equity plus debt for each). Note that at that stage these are based on the post merger-announcement values of equity of each firm, i.e. Conrail’s equity value would be substantially different (hint: for Conrail you can either use the post-merger-announcement price or the offer blended price per share; both are provided in the case). All stock market prices needed are provided in the case.

· Re-lever the asset beta of the merged company. To do so compute the merged company’s debt as the sum of the individual companies’ debt. Do the same for the equity (again this is post-merger-announcement equity values). Note that debt beta is going to be again 0.1.

· Use your estimate of the equity beta for CSX-Conrail to obtain the cost of equity. You have to choose the appropriate risk-free rate from Exhibit 8. Similarly, you can compute the cost of debt. Based on the cost of debt and the cost of equity use CSX-Conrail debt/equity ratio to determine CSX-Conrail WACC.

· Discount the projected gains in operating income as of the end of the 3Q of 1996. Notice that the cash flows would come in December of 1997, 1998, 1999, 2000, 2001, and so on. Note further that the gains in operating income are given in Exhibit 7 on pre-tax basis. To complete the valuation of the gains in operating income, compute their horizon value as of 2001. For that purpose assume a 3% perpetual growth of the 2001 estimate of the gain in operating income. After you compute the present value of gains in operating income, allocate them per share using the total number of Conrail shares. Add your per-share gain to the pre-merger price of Conrail.

2. Please analyze the structure of CSX’s offer for Conrail.

The goal here is to understand each anti-takeover measure and to find out why CSX or Conrail might have wanted it in the merger agreement.

a. Why did CSX make a two-tiered offer?  What effect does this structure have on the transaction?

To motivate your answer to the above question, start by describing the structure of the two-tiered offer (note: be careful when you describe it, since the two tiered offer has more than two stages as described in the case). What is the price a shareholder would receive if she tenders her share as part of the first tier offer as opposed to the second tier offer? To illustrate your answer, imagine two shareholders (X & Y) who consider tendering their shares. Build a payoff table for these two shareholders (note that the payoff of shareholder X would depend on the action taken by shareholder Y and vice versa):

	
	
	Shareholder Y

	
	Action
	Tender
	Do not tender

	Shareholder X
	Tender
	X’s Payoff = ?

Y’s Payoff = ?
	X’s Payoff = ?

Y’s Payoff = ?

	
	Do not tender
	X’s Payoff = ?

Y’s Payoff = ?
	X’s Payoff = ?

Y’s Payoff = ?


Is the two-tiered offer coercive (i.e. forcing participation in the tender offer)? 

b. What are the economic rationales for and the takeover implications of the various provisions in the merger agreement (i.e. no-talk clause, lock-up options, break-up fee, and poison pills)? Do these provisions protect shareholders? 

Who benefits (and who loses) from having these measures as part of the merger deal? Are they motivated by managerial self-interest? Do these provisions facilitate other takeover offers? What are the benefits of having these provisions for the shareholders? Are these provisions justified by Pennsylvania’s state constituency statute
? Do these provisions facilitate the existing takeover bid? Is there any advantage to shareholders by facilitating the existing takeover bid (hint: if bidder knows that likelihood of another bid is lower due to lock-up provision, her valuation of Conrail would change; would you expect the existing bid with lock-up provision to be higher than the bid without the lock-up)?

3.
From the bidder’s point of view, what are the advantages of a two-tiered offer? 

Summarize briefly what is the advantage of proposing a two-tiered merger offer. Do these offers generally pay fair prices? What are the advantages for the bidder?
Here you can also use the analysis offered by Professor Michael Jensen, and available for anonymous download from:  http://papers.ssrn.com/sol3/papers.cfm?abstract_id=173452 
4. 
As a Conrail shareholder, would you tender your shares to CSX at $92.50 in the first-stage offer?

Base your answer on your discussion of the two-tiered offer above. 

� Note that Conrail is incorporated in Pennsylvania and as such is subject to the constituency statute in Pennsylvania’s Corporate Law. What does this statute require the management to take into consideration when conducting such transactions? See page 5 of the case.
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